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ACHARYA VIDYA KULA
IT ASSESSMENT — SEPTEMBER 2018
CLASS: VIII MAX MARKS: 20
SUBJECT: PHYSICS (SCIENCE PAPER - 1) MAX TIME: 30 MIN

GENERAL INSTRUCTIONS:-
Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during the first 5 minutes
This time is to be spent in reading the question paper
The time given at the head of this paper is the time allowed for writing the answers
Write the question numbers clearly, follow the same system of numbering as given in the question paper.
The intended marks for questions or parts of questions are given in brackets [ |

Question — 1
a) Fill in the blanks and rewrite the statement correctly: [2X6=3]
(i) The tyming effect produced on the fixed body due to force is --=—-—-------—-—-
(ii) Liquid pressure in a liquid increases with ---------
(iii) At constant temperature when pressure of a fixed mass of gas increases the ------—-
of a gas decreases
(iv) The product of force and displacement is =----------=-—-
(v) When velocity of moving body increases by twice the kinetic energy of the body
increases by -—----=--uu-
(vi) The compressed spring possesses --r---m-n---- energy

b) Give reason for the following: [1X5=35]
(i) The bob of an oscillating pendulum has zero kinetic energy at their extreme position
(ii) A bird flying has both kinetic and potential energy
(iii) Two persons doing same work may have different power
(iv) Water is used as barometric liquid
(v) It is easier to turn a wheel by its e uad than at its s centve
m
¢) Give examples of the following transformation of energy: [.X4=2]
(i) Electrical to mechanical energy
(i) Chemical to electrical energy
(iii) Light energy to chemical energy
(iv) Heat energy to mechanical energy

Question — 2 .
a) Mr, Ramesh of mass 70kg climbs up a flight of 20steps in 1 minute. Calculate the height of
each step if the total energy spend by him in climbing is 20007 (take g = 10m/s*) [2 %]

b) Define:- (i) One watt of power (ii) One Joule of energy [2]
c) (i) How atmospheric pressure is related to altitude. Give reason for your answer.
(ii) Write two defects of a simple mercury barometer [2%1]

d) (i) Name and state the law of liquid pressure used is hydraulic devices.
(ii) A liquid of density 0.80glcm3 is poured in a vessel up to a level of 100cm. Calculate the
pressure exerted at the bottom of the vessel (g = 10m/s°) [3]
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